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Changing Dimensions for Area & Volume .

1. Draw a rectangle with a length of 12 cm and a width of 8 cm. Find the area. [Gem
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Apply a scale factor/ of 2 to the Iength and 4 to the width. Draw the new rectangle and flnd the
area. Tl tm
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The new rectangle has an area that is & times greater than the area of the original
rectangle.

2. Draw a rectangle with a length of 18 in and a width of 13 in. Find the area. . # 35 l’} |V
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Apply a scale factor of 5 to the length and 3 to the width. Draw the new rectangle and find the
area. _ 5610 in
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The new rectangle has an area that is /S times greater than the area of the original
rectangle.

3. Draw a rectangle with a length of 14 ft and a width of 9 ft. Find the area= . E 247 -
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Apply a scale factor of 3 to the length and 6 to the width. Draw the new rectangle and find the

area. . '\: (o ‘, / 1 .‘kv &
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The new rectangle has an area that is 'L times greater than the area of the original

rectangle.



Describe the relatlonshlp that you see:

L9 ?/ < » A \ I ™ A 2 Ay LR y /
Ve R 45 C¢ (A Y. ¢ i et o ( / 0.5C7 ¢ { 4 ) /
) / ) / } N 2 / P A Vi
/1 oy re Y W Y /2 SRS IS & 3 ) e tro - .y 4
L / \/ 2 F4 “\\\ (7 7 LAag ’/ !),\‘ 'y 3 ] 7 2{7 A '(‘) Ca ¢ 7 F B4 4
/4 ey ' ] 4 /) ' / . 4
s \f ¥ ’ > y pA . / / / -
P v d \ ‘ / ) » < ] ’ , , ¢ =3
”/0(’,\11 / “’/’ ) { '/‘_‘ NI/ E | 7 € P Tt ¢ i / 7 Pl | Zlyc(’ § x)"‘ ) &
(&4 /)L / v
) f \
aure,
(7/:

4. Draw a rectangular prism with a Iength of 6 cm, a width of 3 cm, and a height of 2 cm. Find

the volume. o |- 2] L
— [0]7 BN - B
| " ;
- ( f
Y ~7 { < Il = T £ I ) )
= \/ |/\ \/C‘*\ - 2 e ) > f;.:;,"y ‘,/ ~phe [DHaa0L

Apply a scale factor of 3 to the length, 2 to the width, and 5 to the height. Draw the new

rectangular prism and find the volume. 1080 ¢
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The new rectangular prism has a volume thatis _ ’

times greater than the volume of the
original rectangular prism.

5. Draw a tnang laL prlsm with a base of 4 ft, a helght of 5 ft, and a depth of 8 ft. Find the
volume. &M

/ | ) | \
& \\f"!"\} | i
i~ "\"‘ e \ - A { | |
i / . ™ { A= y |
F KA 0+ 8 A= L bh
~ 4 Wl Ly B
; J‘I vV \/ o U r B0 ' 2 =
\”’ - ’_;’: - ‘ e ¥ r 4 ,"; j 1, ‘
5 1

Apply a scale factor of 2 to base, 4 to the height, and 2 to the depth. Draw the new tnangular
prism and find the volume. 1230142
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The new triangular prism has a volume that is |l _times greater than the volume of the
original triangular prism.




;6. Draw a rectangular prism with a length of 4 in, a width of 5 in, and a height of 3 in. Find the
“volume. Oin
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Apply a scale factor of 2 to the length, 4 to the W|dth and 10 to the height. Draw the new
rectangular prism and find the volume. __ 4500 &
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The newsectangular prism has a volume that is 8O times greater than the volume of the
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original rectangular prism:

Describe the relationship that you see: __ % 1Sewers @l var
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7. Draw a gylinder with a radlus of 4 in and a height of 10 in. Find the volume.
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Apply a scale factor of 2 to the radius and 3 to the helght Draw the new cylinder and find the
volume. _b0AS. ¥ R
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The new cylinder has a volume that is ? /- times greater than the volume of the original
cylinder.
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8. Draw a cylinder with a radlus of 3 ft and a height of 8 ft. Find the volume. 22b.0
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~ Apply a scale factor of 3 to the radius and 5 to the helght Draw the new cylinder and find the
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The new cylinder has a volume that is IS _times greater than the volume of the original
cylinder. .
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9. Draw a gylinder with a radius of 6 cm and a height of 5 cm. Find the volume &l
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Apply a scale factor of 4 to the radius and 10 to the helght Draw the new cyllnder and find the

The newgylinder has a volume that is /G0 times greater than the volume of the original
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Describe the relatlonshlp that you see:
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